





. var(a) = 0-8631
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Similarly, var(B) = —=t = o 2 = 00089
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Now, SE(d)=/var(d) =+0-8631 = 0-929
SE(ﬁ) = Jvar(p) = +0-0089 = 0094,

(iii) Construction of confidence intervals :

Now we like to set up a confidence interval for o and [ at (a) P
= 0-95 (i.e., 5% level of significance) and (b) P = 0:99 (i.e., 1% level
of significance)

In other words, we like to find the value of ‘¢’ that cuts off (a)
0-025 and (b) 0-005 of the area at the tail end of the distribution on
both sides. From table value : £ .., i = 2 = t;gp 18 = 2101 and

bpoor P —2 = ¢ 18 = 2-878

0-005?
Therefore 95% confidence internal for o are : & 14051~ 2. SE(a)
confidence interval for o are: & * fyg005,7 — 2 SE(d.).

i'e" P[&-to.oos,n—ZSE(&)Sa §&+t0,005,n—2 SE(&) = 099

Therefore 95% confidence interval for o would be : & *Zg;

n-2SE(a).
= - 3:5056 £ 2:101 X 0-928
or, — 3-505 + 1-9518.
Similarly, 99% confidence interval for o would be :
- 3-505 = 2-878 x 0-929
or, —3-505 + 2:6736.

Similarly, 95% confidence interval of B are : E"—*’-‘o-ozs» n-2 SE

ie., P[ﬁ ~loo5:71 =2 SE(E) <Bp<p 10,025,112 SE(B)} = 0-95.
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